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Multiple Choice Questions

1. The liberal nationalism stands for:

(a) freedom for the individual and equality before law.

(b) preservation of autocracy and clerical privileges.

(c) freedom for only male members of society and equality before law.
(d) freedom only for senior citizens.

2. Among the following which one has a broader concept of development?
a) World Bank b) IMF c) UNDP d) UNESCO

3. Which of the following soil is more common in Piedmont plains such as Duars, Chos and
Terai?

a) Black soil

b) Laterite soil
c) Alluvial soil
d) Red soil

4. Who became the King of United Italy in 18617
(a) Giuseppe Garibaldi

(b) Victor Emmanuel Il

(c) Count Cavour

(d) Giuseppe Mazzini

5. What will be the top priority in the developmental goal of a landless labourer?
(a) Expansion of rural banking

(b) More days of work and better wages

(c) Metal roads for transportation

(d) Establishment of a high school

6. Under which of the following types of resources can wind energy be categorized?

a) Continuous resource
b) Developed resource
c¢) Non-recyclable resource
d) Exhaustible resource



7. Find out the Per capita Income of the country X

Country Monthly Incomes of Citizens in 2020( in Rupees) Average
A B C D E
X 1200 800 9200 550 750 ?

a) 2500 b )3500 c) 2600 d) 3600
8. The three leaders who helped for the unification of Italy:
(a) Giuseppe Mazzini, Victor Emmanuel I, Cavour
(b) Giuseppe Mazzini, Cavour, Giuseppe Garibaldi
(c) Victor Emmanuel, Bismarck, Cavour
(d) None of the above

9. Which one of the following is the main cause of land degradation in the state like western
Uttar Pradesh?

a) Deforestation due to mining
b) Overgrazing

c) Over-irrigation

d) Industrial waste

10. Which one of the following is not a feature of developing country?
(a) Agriculture as the major occupation

(b) High technological development

(c) Mass poverty

(d) Mass illiteracy

11. Culturable waste land is the piece of land left uncultivated for -
a) one or less than one agricultural year

b) more than 5 agricultural years

c) two agricultural years

d) past 1 to 5 agricultural years




Section 2/5: Fill In The Blanks

12. Regional dialects were discouraged and.............. , became the common language of the
nation.

A. English

B. Polish language

C. French

D. Italian

13. Kerala has a low Infant Mortality Rate because it has

a. pollution free environment b. suitable climate

c. adequate provision of basic health and educational facilities

d. good water

14. The lower horizons of the arid soil is occupied by kankar due to increasing

(a) Calcium content

(b) Potash content

(c) Lime, Potash and Phosphorus content
(d) Phosphorus content

15. was proclaimed as the emperor of Germany in 1871
(a) Otto Von Bismarck

(b) Victor Emmanuel Il

(c) Count Cavour

(d) Kaiser William | of Prussia

16. The HDI composite measure is mainly based on health, education and --------------
a) Medical facilities b) Public facilities c) Income d) Public facilities and income.

17. The cold desert of Ladakh has very rich but it is deficient in water,
infrastructure and some vital minerals.

a) cultural heritage
b) natural heritage
c¢) indigenous heritage
d) historic heritage

18. The 1830s were years of in the entire Europe.

a) Administrative development
b) Great economic hardship
c)Productive wars

d)Scientific inventory



19. Sustainable development could be achieved by
(a) lowering the use of non-renewable resources
(b) encouraging the use of renewable sources

(c) both of these

(d) none of these

20. Method of will not help in soil conservation.
a) Contour Ploughing

b) Strip cropping

c) Creating shelter belts

d) Ploughing up and down the slopes

Section 3/5: State Whether the Statement Is True or False
21. If the BMI of a boy aged 15 years and 6 months is 28, then he is having normal weight.

22. Consequences of environmental degradation do not respect national or state boundaries;
this issue is no longer region or nation specific.

23. Countries like India depend on importing oil from abroad because they do not have good
quality oil.

STATE WHETHER THE STATEMENT IS TRUE OR FALSE (Answers)
21. False
22. True
23. False
Section 4/5: Complete The Statement
24. One major objective of the Agenda 21 is :
a) to combat environmental damage.
b) to share responsibilities.
c) every local government draw its own local agenda 21.
d) to compromise with the needs of the future generations.
25. Resource planning is a complex process which involves-

a) First five-year plan launched after independence.

b) Planning structure endowed with appropriate technology, skill and institutional
setup for resource development plans.

c¢) Economically backward regions.

d) Attractions for the foreign invaders.



26. The process of transformation of things available in our environment involves:

a) function of human activities.

b) surveying, mapping, qualitative estimation and measurement of the resources.
c) international institutions which regulate some resources.

d) Interactive relationship between nature, technology and institutions.

Section 5/5: Match The Pairs

27.
1) German culture a) Romantic Nationalism
2) Cultural movement b) Giuseppe Mazzini
3) Austria-Hungary c¢) Habsburg Empire
4) Young ltaly d) Johann Gottfried Herder
e) Ottoman Empire

MATCH THE PAIRS (Answers)

1—d, 2—a, 3—c, 4-b



